RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving the FY 2000 Budget Modification #2 Request for the Tohono O'odham Nation Fire Department)

RESOLUTION NO. 2000-404

1	WHEREAS,	the Tohono O'odham Nation ("Nation"), established the Tohono O'odham Nation Fire
2		Department in 1995 to provide fire protection and fire safety to all members of the
3		Nation; and
4	WHEREAS,	the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Fire Department has come before the Tohono O'odham Nation Habitan Barbara
5		Legislative Council and requested approval of a budget modification #2 to transfer
6		monies from line item 01-1095-610 (Salaries), to be distributed to the following line
7		item 01-1095-612 (Occasional Appointments): for cost of excessive overtime and
8		coverage for personnel needed for the Fire Department, due to increase of emergency
9		related calls; and
10	WHEREAS,	money from line item 01-1095-771 (R/M Vehicles), 01-1095-812 (Public Relations), 01-
11		1095-860 (Special Activities), be distributed into line item 01-1095-778
12		(Alterations/Renovations) to cover costs for the Fire Department Sub Stations
13		electrical hook ups, and phone/computer lines for dispatching for the remaining
14		fiscal year 2000; and
15	WHEREAS,	money from line item 01-1095-774 (Computer Maintenance), be distributed into line
16		item 01-1095-721 (Supplies - Other) due to additional cost for purchase of emergency
17		related equipment needed for the Fire Department due to increase in Emergency
18		Responses; and
19	WHEREAS,	money from line item 01-1095-752 (Office & Comm. Equipment), be distributed into
20		line items 01-1095-712 (Gas, Oil, & Coolants), and 01-1095-750 (Capital) to cover cost
21		of fuel due to large increase in Emergency related calls, and to cover cost for charge
22		made to line item 01-1095-750 a non existing line item of the Fire Departments FY
23		2000 budget; and
24	WHEREAS,	money from line items 011095622 (Employee Security) be distributed into line items distributed into line items distributed into line distributed into line distributed into line distributed into line distributed distrib
25		01-1095-750 (Capital), and 01-1095-721 (Supplies Other) to cover cost for emergency
26		related equipment, and charges made to a non existing line item.
27	NOW, THEF	REFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council approves
28		budget modification #2 request.
29		
30		
31		

	Page 2 of 3	ion #2 Request for the Tonono O'odnam Nat	ion fire Department)
1 2 3 4 5 6 7 8	of <u>SEPTEMBER</u> , <u>2000</u> at a meeting at AGAINST; <u>-0-</u> NOT VOTING; and <u>[06]</u> . Section 1 (d)(3) of Article VI of the Co Tohono O'Odham Nation on Januar	by the Tohono O'odham Legislative County which a quorum was present with a vot ABSENT, pursuant to the powers vestenstitution of the Tohono O'Odham Nativy 18, 1986; and approved by the Acting on March 6, 1986, pursuant to Section	e of <u>2,165.5</u> FOR; <u>-0-</u> d in the Council by ion, adopted by the g Deputy Assistant
9		TOHONO O'ODHAM LEGISLATIVE CO	UNCIL
10			
11		De K	
12		Dennis Ramon, Legislative Chairma	n
13		13th day of Septenter, 20	-20
14		13 day of Leptenher, 20	00
15			
16	ATTEST:		
17	hense M. Sim In	_	
18 19	JENNEM. Sur fr Julianna Saraficio, Acting Legislative	Sacratary	
20			
21	11 day of Septente, 20	00	
22	, = , = ,	•	
23			
24	Said Resolution was submitted for ap	proval to the office of the Chairman of th	e Tohono O'Odham
25	Nation on the 13^{16} day of 2	proval to the office of the Chairman of the eptender , 20 <u>00</u> at <u>2:09</u>	o'clock, _PM.,
26	pursuant to the provisions of Section	5 of Article VII of the Constitution and w	ill become effective
27	upon his approval or upon his failu	re to either approve or disapprove it	within 48 hours of
28	submittal.		
29			
30		TOHONO O'ODHAM LEGISLATIVE COUN	CIL
31			
32		\mathcal{K}	
33		Dennis Ramon, Legislative Chairman	
34 35		Dennis Ramon, Legislative Chairman	
36			
37			
38	[] APPROVED	on the day of	, 20
39			
40	[] DISAPPROVED	at o'clock,M.	
41			
42		EXCEEDED 48 HOURS	
43			
44		EDWARD D. MANUEL, Chairman	
45		TOHONO O'ODHAM NATION	
46			

RESOLUTION NO. <u>2000-404</u>

- 10	RESOLUTION NO. <u>2000-404</u> Approving the FY 2000 Budget Modification #2 Request for the Tohono O'odham Nation Fire Department) Page 3 of 3
	Returned to the Legislative Secretary on the $\frac{18}{1800}$ day of
k	Senter her and 9:45 min Am
F	o'clock, / · .M.
	September, 2000, at 9:45 o'clock, A.M. Denne M. Sen fr
j	ulianna Saraficio, Acting Legislative Secretary
ĺ	
Ì	

ACTION: APPROVING THE FY 2000 BUDGET MODIFICATION #2 REQUEST FOR THE TOHONO O'ODHAM NATION

FIRE DEPARTMENT

MOVED: COUNCILWOMAN FERN SALCIDO SECOND: COUNCILWOMAN EVELYN JUAN

DATE: SEPTEMBER 11, 2000

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	х			X
	2. RITA MARTINEZ (Nicholas Jose)	85.9	X			
SELLS 372.7	1. DENNIS E. JOSE	186.35	X			
<i></i>	2. EVELYN JUAN ()	186.35	x			
SCHUK TOAK	1. MARY FLORES	66.7	X			
133.4	2. AMBROSE ENCINAS	66.7	X			
SAN XAVIER	1. TONY BURRELL	82.95	X			
165.9	2. DENNIS RÁMON	82.95	X			x
BABOQUIVARI	1. FRANCES MIGUEL	143.25	X			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	X			
GU ACHI	CAMILLUS LOPEZ (Louis Johnson)	104.8	X			
209.6	2. ALEX J. RAMON ()	104.8	x			
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	78.4	X			х
156.8	2. JOHNSON JOSE	78.4	X			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05	x			X
128.1	2. GLORIA RAMIREZ	64.05	x			
GU VO	1. FERN SALCIDO	80.0	Х			
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0	x			x
HICKIWAN	1. SHIRLEY MOLINA	79.05	X			Х
158.1	2. LLOYD FRANCISCO (Susan Sam)	79.05	x			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	X			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	x			
T	OTAL	2,165.5	2,165.5	-0-	-0-	[06]